% I_W.Padasalai.Net www.Trb Tnpsc.Com«*

Monthly Test - June, 2024

Standard XI|
MATHEMATICS
Time: 1.30 hrs Marks 50
Section- A
I. Choose and write the correct answer: 10x1=10

. If x'y  =¢e", x‘y' =¢", A =
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XI11-UJ 3 5
14, Write (54 9i) 4 (2 — 4i) in rectangular form.
1S, Showthat (2 4iy/3)" - (2 -i/3)" is purely imaginary.

16. If 2=5-2i and w = 1+ 3i,evaluate 7° + 2zw + W' .
Section - C
IIl. Answer any four questions. Q.No.22 is compulsory: 4x3=12

3 2 -1 -3 .
17. 1t f\—( “ and B= ‘| verily that

7 5 5 2
(AB) '=B'A "
1 "
18. Solve = + 2y =12, =+ 3y = 13 using Cramer s rule.
X X
8 1 4
= I | ) I__hl
19. If A—-a 4 4 7 |.provethat A =A".
|8 4

20. Find the least value of the positive integer n for which (V3 +
is purely real.

z-4

7+ 4

91 If 7= x +iy isacomplex number such that =1 sh

that the locus of z is real axis.

22 If 7 (cos0+1isin0) show that 2" _]T ~ 2isin 0.
B 7

Section-D
IV. Answer all the questions:

0 1 1
I
“Joa) IfA=[1 0 1 | show that A ' :;{h -30).

ikl UJ
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through
b) A boy is walking along the path y = ax’ +bx +¢ "
the points (-6, 8), (-z.-lzmdtm}-ﬂcwm meel

o0 (Use
his friend at P(7, 60). will be meet his friend? (U

Gaussian elimination method). | g 0.
24 a) If the system of equations PX=TH ol
u+by+rz=ﬂl‘mam1-tnﬂﬂl ution

r

ax +qy +cz =10, q ., T _7

e+
and p:a,q#h.r#c.pl‘ﬂﬂﬂhﬂl p-a q-b r-¢
(OR)

using Gauss-Jordan

.
|
2-

(2 1
b) Find the inverse of A = 3 2
2 1

method.

25. a) If z=x+1y, is a complex number such tha’

lm[zﬁi]:u. show that the locus of z is

1z +1
2x +2y’ +x=2y=0.

(OR)
A
| +sin +|cu5w

b) Find the value of : -

in_ —1Cos

_I+smm 0]

76. a) Solve the equation z' +8i =0, where ze C.
(OR)

b) Suppose 7.z, and z, are the vertices of an equilatey
triangle inscribed inthe circle | z| = 2., If z, =1+i+/3, then

»
ﬁ.?d ;—"'H.’L"lf T'- -
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S I !\1**\. 1 iﬁsy]'nmu-ic‘ﬂmn AI =
ﬂ] j\ I h} {AT): c) AI d] (A-I]I

0. The solution of the equation | z| -z = | + 2i is

3 & 3 3 3
a) --2 4 y_ 23 3.
,] 5 b) 2+ 1 ) 5! d) 2+2|
?I 1"‘ + i\‘Hl + it!] + -Ilﬂ i!
a) 0 b) | ¢c) -1 d) i
B.If Z,Z, and Z, are complex numbers such that
Z,+Z,+Z,=0 and |Z|=|Z,|=|Zg=1" then
D+ 22+ 7 is
a) 3 b) 2 ¢) | d) 0

9. The product of all four values of [cus% + 15in§]‘ 1
a) -2 b) c) 1 d) 2
10. If @] isacubic root of unityand (1 + )" = A + Bw, thep

(A, B) equals
a) (1,0) b) (<LL1) ¢ (O] d) (1,1)
Section - B
Il.  Answer any four questions. Q.No. 16 is compulsory: 4x2=8
I'1. By using Gaussian elimination method, balance the chemics

equation C,H, +0, - H,0+CO,.

12. Prove that cf}sﬁ ~#5 is orthogonal.
sind cos0
6 0 -9]
: c 2 0],
13 Find the rank of the matrix 6.8 6 in the row-echelon
k0 0 |
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